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1. Which set of coordinate points is an example of a
function?

1) {(-12)(34)(7,6)(3,8)}
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2. State the domain and range in set builder notation and
interval notation.
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3. Which graph does not represent a function?
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4, 'Which diagram represents a relation that is not a
function?

)

x-value( ¢)
vepéats

e

\
)

4)

A

5. Abugtravels up a tree, from the ground, over a 30-second interval. It travels fast at first and then slows down. It stops
for 10 seconds, then proceeds slowly, speeding up as it goes Which sketch best illustrates the bug's distance (d) from the

ground over the 30-second interval (¢)?
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6. For the following coordinate points, state the domain and range,

a) {(1,2)(4,4) (5,-6) (7,-8) (9:-9) }
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function.

7.. Given the graphs below, identify each type of
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8. Given the equations below, identify each type of function.

a) y=x+2 b) y=|x+2|
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9. Directions-For the following graphs, state the domain and range, a) in set builder and b) in interval notation
and c) determine if the graph represents a function.
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10. Given the tables, evaluate the following:

x |1]2|3|4]5
f) |3(4]5]s
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11.If f(x)= 2x 1 evaluate the following
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12. If f(x)=x*+2 evaluate the following
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Directions- For questions 12-14 for each of the given graphs evaluate the following.

12. 13. 14,

K

7
B gy e 1
-

4 N B A )
]

\
L ] tﬁ [ 4] f'ﬁ’
\

)
1
1
A
of
X

'<,J' P I A B . e e e T I Y
; \:\"v\ i
- : N 5
w' l.-n* -
3 N
9 @ \[3) ) f(-9) Y= \
J J ) f@ Y=|land3

. z tON
) o %-\—%Q) /& Nosaluio 2'gl) ORINT Solw\—l ON
¢ x)=1 = x)= :F '
) O X SN V@ =) k) f(x)=3 xr_a‘_']cig
d flx)=-1 x={Oard-4 | B /&= NoO SOlutton

? i R Y

15. Given the table below, identify which function represents 16. Given the table below, identify which function
the table. represents the table.
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17. Directions- select the graph which corresponds to the
story described below. The population size grows at
a constant rate for some time, then doesn’t change
for a while, and then grows at a constant rate once

again.
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18. Directions- select the graph which corresponds to the
story described below. The population size grows
somewhat fast at first, and then the rate of growth
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19. Larry, Moe and Curly spend their free time doing community service projects. They would like to get more

involved. They began by observing the number of people who show up to the town cleanup activities each day. The
data from their observations is recorded in the given table for the Great Four Day Cleanup.

a) Give a verbal description of what the x and y values in the table represent.
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b) Graph the data on the grid below.
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¢) What type of graph is this?
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20. Given the graphs below, describe a story that best represents the function.
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21. Consider the following story about skydiving: Julie gets into an airplane and waits on the tarmac for 2 minutes before
it takes off. The airplane climbs to 10,000 feet over the next 15 minutes. After 2 minutes at that constant elevation,
Julie jumps and free falls for 45 seconds until she reaches a height of 5,000 feet. Deploying her chute, she slowly
glides back to Eatth over the next 7 minutes where she lands gently on the ground.

vation with respect to time.
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a) Draw an eleyation versus time graph to
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22. A man climbing down a ladder that js 20 feet high. At zero seconds, his shoes are at 20 feet above the floor, and at 5
seconds, his shoes are at 6 feet. From 5 seconds to the 9.5 second mark, he drinks some water on the step 6 feet off
the ground. Afterward drinking the water, he takes 2.5 seconds to descend to the ground and then he walks into the

kitchen. .

(a) Draw your own graph for this graphing story. Use straight line segments in your graph to model the elevation of the
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man over different time intervals. Label your ¥ -axis appropriately and give a title for your graph.
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Answer the following questions based on the piecewise function graph below.

What was the average rate of change of the person’s

elevation between time 0 seconds and 2 seconds? 77
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What was the average rate of change of the person’s
elevation between time 2 seconds and 4 seconds?
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What was the average rate of change of the person’s

elevation between time 4 seconds and 6 seconds? 3T
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